- S BAINEL
BAINEL AUTOPARTS

BAINEL AUTOPARTS is engaged in trading and manufacturing
chassis parts since 2012 .

We are-professional in trading and manufacturing parts:
Suspension System

Brake System

Drive Shaft

Engine Parts

Body parts...




1.Control Arm

2.Tie Rod end
3.Ball Joint
4.Stabilizer Link

5.Axial Rod
b.5teering Knuckle

7.Brake Caliper
8.Brake Cylinder
9.0il Filter
10.Turbo Charger

11.Brake Disc
12.Wheel Hub Bearing

All other parts for the car module,Please consult customer service for details.
sales@bainel-autoparts.com




CITROEN PEUGOET RENALILT

PEUGEOT 308 5W [2010-]

508730 Front Axle
508731 Thread Size : 2x M10x1.5
1 |BN03900076 |508741 508749 |PEUGEOT 605 (6B) [1989-1999] mm - .
96080924 Length - 393 mm
96080921 Weight: 0.530 kg
CITROEN XANTIA (X1) [1993-1998]  |Front Axle
96177836 CITROEN XANTIA (X2) [1998-2003]  |Thread Size - M10x1.5 mm
2 |BM03900077 |508740 CITROEN XANTIA Estate (X1) [1995- |Outer Thread M12x1.5 mim |sfie——
9631583680 1998] CITROEMN XANTIA |Length : 300 mm
Estate (X2) [1998-2003] Weight: 0.506 kg
CITROEN C2 (JM_) [2003]
508745 CITROEN C3 | (FC_) [2002-] Front Axle
3 |BNO3200078 |508759 CITROENGC3 Pluriel (HB_} [2003-] Thread Size - M10x1.5 mm | S &
96288787 CITROEN (DF-PSA) C2 (T11) [2006] |Length - 335 mm
PEUGEOT 1007 (KM_) [2005-]
01545 CITROEN (DF-PSA) ELYSEE (7B) ——
[2001] CITROEN FUKANG
4 |BNOD3900070 [20B73450873 Hatchback [1992-2005] Lenotiy - 300 i) =
BB TABE3IR0 [ e e e A Thread Size - 2x M10x1.5 Y
PE1aE2E3 (N68) [2001-2008] CITROEN XSARA |™MM
CITRCOEM C4 Grand Picasso Il [2013-] Front Axle
CITROEN C4 Picasso Il [2013-] _ :
5 |BND3900080 |2809045780 PEUGEOT 308 (4A_, 4C_) [2007-] Thecad St R .o 2 i
i L e PEUGEOT 308 CC [2009-]308 Il Lemvgtie: 333 oy
[2013-] PEUGEOT 308 |YWeight: 0.65 kg
6 |BN03200081 |517857 SHBEUCN LS e Rear Axle

All other parts for the car module,Please consult customer service for details.
sales@bainel-autoparts.com




CITROEM C4 (LC ) [2004-]C4 Coupe

Location : Front Axle

PELNGOET

(LA} [2004-] Brake Syst : ATE -

CITROEMN (DF-PSA) C-TRIOMPHE s 3L ok ‘{‘-

2006-] : 2
BMN01200093 D1107 L Width 1: 156.3 m -y -ull -

PEUGEOT 207 (WA WC_) :—|eight: ol =g

[2006-]207 SWVW (WK_) [2007-]3008 ot 1: 71

[2009-] Thick : 191

307 (IA/C) (20001307 Break (3E) reEness - mm

CITROEM (DF-PSA)} C2 (T11) [2006-]

PEUGEOT Location : Front Axle T

206 Hatchback (2ASC) [1998-]1206 Brake System: BOS - A Y
BMNO1900094 D1143 Saloon [2007-]1206 SW (2E/K) Width : 130.9 mm et

[2002-]206+ (T3E) [2009-] Height: 47.26 mm e

PEUGEOT (DF-PSA) 206 [2005-]207 Thickness: 18 mm

Saloon [2008-]

CITROEMN BERLINGO (MF)

ERSEE- TR O Bhoac (14 ) Location : Front Axle =

[1996-]XSARA (M1) [1997-2005] Brake Systern: TRW Z—_’j‘_’_\-}
BMNO1900095 D1190 e, Elresic M2, [1S07- SNk Width : 130 mm ¥ g

HSARA Coupe (MO} [1998-2005] i Pl il —

PEUGEOT 306 (7B, M3, N5) [1993- ke i 8,

2001]

306 Break (F7E. M3 NS5 [1994-20021

CITROEM

JUMPER Box (2300L) [1994- Location : i 5 ,,—f—‘%zf—\‘_ﬁ

2002]JUMPER Bus (230P) [1994- e s System' Ny < g'l\______/};

2002] : . -—
BMNO1900096 D1197 Width : 159 9

JUMPER Platform/Chassis (230) H;ight B & g .@

[1994-2002] : 2 Sy 3

ELAT Thickness : 195 mm

DUCATO Box (23011 [1994-

CITROEM

JUMPER Box (230L) [1994- i ERER Ak E=—y

2002]JUMPER Box (244) Beake Sysideil B i - . I
BMNO1900097 D1198 [ UG L RIMPER Bus WSOy DISEE Width : 140 55 mm JE=. i

2002] =TS [

Height : 658 mmn e A A

JUMPER Bus (244, Z ) Thickness: 19 mm o o

[2002-]JUMPER Platform/Chassis (230)

[1994 20021

CITROEM o

HAMNTLA (K1) [1993-1998]XAMNTLA (2} Location : Front Axle ——

[1998-2003]>0 (¥3) [1989-1994]XM\ Brake System: BRB e w»
BMN01900098 D1217 Cr4) [1994-2000] Width : 140.55 mm .

>antia Berline (Latin Amernca) 1993-
19972 Berline (Latin Amenca) 1993
1997

Height : &5.8 mmn
Thickness : 19 mm

All other parts for the car module,Please consult customer service for details.

sales@bainel-autoparts.com




A ]
\\.' |

UNIVERSAL CERTIFICATION CENTRE CO.-. LTD.
QUALITY MANAGHMENT SYSTEM CERTIFICATE
Pl | ORI AHERTTIRM

Certificate of Compliance
Rin 3108 R ALAATTRS

SF
ISR
Fc ; Certificate of Registration

Thbswrifles shiad tha Crisdiey Sl anagornan Sysina of

Weicheng Metal Products Co., Ltd.

B 3N, Sorih olf Nerghat Hoad, Nanghai Coerdy
Ninghe Uity hagia Privere: Chins 305608

Cerilicate’s WhaicPng Miltol Produsts Cou o,
T m;:m"m.aum v, 5
.

i e coniy et ey v .
WEICHENG METAL FRODLUCTS I:I:I.| LT

b By i ey NEF-TRH el Foiall 10 bs i iy Ve the Fllawing whainlard

o BB 1619200

G 1900 - 200 TS Crie | =198

Tnin e s v
SPRODLCTION AND SERVICES OF STEEL CASTING®
o b - S DY 1'&1.“ ﬂdm

AN AZS] Conioe CFA CFAM, CFIC

Wanilicalian fe: T
ASTRA |4 SR AR ISR A

Serpe ol gsiraio:
Madifiches af Prosiae Castiag (i Shifl Lo, bemiak, ool Uil
Exclusirans: Prodac Dsdpn

- LATE Ciralionts Hamber
" ot b, ;-" 2
Carifais Tea D FEAAY-3854 E -
Tghiaging T 1RALAY 28 | ik
Faparataca Taty® %M AY-2001 Wi Frppmalien, Torirsind
Cpesiom, K9S0, Lid

H5F International Siraleg e Registralions

TER Hits Do Biomd, i A, Wisfogen S0 | [084) FSF 000 | Mewr ki o

lel: 86-574-82824608
Fax : 86-574-82824600
Mail : sales@bainel-autoparts.com

Website : www.bainel-autoparts.com 2 -
Office Add : AUTQ I. f—\_l, 1 b

Rm1801,No.88 Qianhe South Road,Ningbo,China
Plant Add :

No0.388,Xinghai North-Road, Ninghai County, Ningbo, China

— -y




